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Aufgaben-Quickname: 7865

Aufgabe 1
Quick:
7865

Schreibe als Bruch.

a) 0,01 = 1
100 b) 0,39 = 39

100 c) 0,7 = 7
10

Aufgabe 2
Quick:
7865

Schreibe als Bruch.

a) 0,7 = 7
10 b) 6 = 6

1 c) 0,6 = 3
5 d) 0,7 = 7

10

e) 0,7 = 7
10 f) 3 = 3

1 g) 2 = 2
1 h) 5 = 5

1

i) 0,3 = 3
10 j) 4 = 4

1

Aufgabe 3
Quick:
7865

Schreibe als Bruch.

a) 0,5 = 1
2 b) 7,4 = 37

5 = 72
5 c) 4,1 = 41

10 = 4 1
10

d) 49 = 49
1 e) 3,8 = 19

5 = 34
5 f) 0,38 = 19

50

g) 9,2 = 46
5 = 91

5 h) 0,19 = 19
100 i) 0,5 = 1

2

j) 0,13 = 13
100

Aufgabe 4
Quick:
7865

Schreibe als Bruch.

a) 0,979 = 979
1000 b) 0,477 = 477

1000 c) 0,092 = 23
250

d) 0,581 = 581
1000 e) 0,157 = 157

1000 f) 0,419 = 419
1000

g) 0,078 = 39
500 h) 0,639 = 639

1000 i) 0,474 = 237
500

j) 0,071 = 71
1000

Viel Erfolg!
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